@ 6 ® 9 @ 12 ® 18

@ 3



=z X
o

A
52

Mo

L7
@D 0.321321--- = 0.321

B 1.02545454--- = 1.0254

@ 3.030303--- = 3.0
® 0.9222---=0.92

@ 1.5191919--- = 1.519



m#0)

b @ 0 ® 26

@ -1

@ 3.14



x = 13.5434343 - .- = B4 2 Y= Akt A 2ol 4]

@D 10x-x @ 100x — x

@ 100x — 10x ® 1000x — 10x

® 1000x — 100x



5. 05 " 5= q & tlsto] 1.02 7F H Ak o] off 4 9] h2?

1 7 11
3 s 95



3.12405 9] % F0lT] A%2 o, 257 ofe] 504 2] ]
ot o, a4 b S Falolat,



2 135 2 242 Jepfs sgolty, [ Jere] g
ez Fshelat.
[#F9) 1.35 2 x 2} T,

x=13535---@

[ ]x=1353535---@

@-0 & Axtsta

> 2R
D EE
O EE

4
i

rlo






)
—_

@ 5 ®7 @ 8 ® 9

@ 3



10.

Q_E} o][qL

® 121



